VCMDS - SERIES

ASSEMBLY INSTRUCTIONS FOR | BUL10354

INSTALLATION OF VERTICAL REV.A
CABLE MANAGERS PAGE 1 OF 1

N\

ﬁ.

S WME AT WS NS NS

/\\

A\

\;\R—\WT\T\T\T\V‘f

DETAIL A

g
DOOR REMOVEDFOR CLARITY
PARTS LIST
ITEM No. DESCRIPTION QTY
1 VERTICAL CABLE MANAGER 1
2 3/8 FLAT WASHER 3
3 3/8 LOCK WASHER 3
4 3/8-16 X7/8 CAP HEX 3
5 3/8 SPRING NUT 3
TOOL BOX

. 9/16" Socket
ﬁ a Wrench Sf;\i}e

'“\vA\':.nva\:n\vA\:n:\'vA“‘t»'A\‘:a\vﬁ\-:n\v‘\:ij'

ASSEMBLY INSTRUCTIONS:

A) Place spring nuts (item 5) in C channel at desired location
for the cable manager.

B) Align mounting slots in cable manager (item 1) with spring nuts.
Secure using 3/8 flat and lock washers and 3/8-16 x 7/8 screw
(items 2, 3 & 4).

C) Ensure cable manager is perpendicular to bottom and tighten all
SCTews.

HAMMOND
MANUFACTURING:w

ELECTRONICS GROUP

visit our website @ www.hammondmfg.com|




